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No. 13 %+ 50m BHF

1/2

B A LL—R iRk

B K £ T B 2E KK icE

OPN [l FH kAT 5 K Eiifl = 9/ 4 26.93 10#% ( 0.57)
OPN 58 g 5% Fr R Eii il 53 9/ 5 27.63 9%% ( 0.58)
OPN fidlyd Kl 5 Fr K Hi = 9/ 6 27.75 9% ( 0.56)
OPN AAA  BEAT L (W) =2 9/ 3 27.95 9% ( 0.62)
OPN il =3k 5 Fr R Bl =3 9/ 2 28. 37 8f% ( 0.65)
OPN 7&E H%& 5 I K il =3 9/ 8 28. 40 8#% ( 0.66)
OPN TH =¥ 55 P R Eii il =g 9/ 0 28. 45 8% ( 0.65)
OPN H4 A 55 Fr R Eii il =2 9/ 7 28. 54 8t ( 0.62)
OPN fEH OV 7= 5% Fr K ikl =2 8/ 3 28. 64 8% ( 0.66)
OPN &k ZL7 5 Fr R Eiifl =3 8/ 6 28. 69 7#%  ( 0.60)
OPN Eijn] D7 =N = 7/ 4 28.75 8#% ( 0.66)
OPN 58 EHRE A =2 9/ 9 28.79 8#% ( 0.69)
OPN fEA A& & H =2 9/ 1 28. 85 8f% ( 0.67)
OPN JINE% #E%F G NG 1 =3 8/ 5 28.99 % (0.72)
OPN iRk &% 5 AR EnFE = 8/ 4 29.07 7% ( 0.69)
OPN % X ¥ 5 Fr R Hi =) 8/ 0 29. 26 7#% ( 0.66)
OPN BFJH HhE HHD =2 7/ 5 29.30 7#%  ( 0.61)
OPN faA B 5% T Kl =3 7/ 2 29. 32 7#%  ( 0.66)
OPN K¥E £F 5 Fr R EiiFl =) 8/ 1 29. 48 T#%  (0.72)
OPN KB 36 H g = H =2 8/ 7 29.50 7%  (0.67)
OPN /N A3 5% T K ER =1 8/ 8 29.50 T (0.71)
OPN Ifs D R 5% R Eii il = 7/ 3 29. 67 %% ( 0.67)
OPN 7 KE 5% I Kl = 7/ 6 29. 69 7#%  ( 0.59)
OPN 74 "E rEtiipreesic =] 6/ 7 29. 89 6% ( 0.69)
OPN ikl ZRH & M &3 8/ 2 30. 01 65% ( 0.67)
OPN H)II A Hi A ONI =) 7/ 0 30.02 65% ( 0.70)
OPN itk £V A =2 7/ 1 30.16 6% ( 0.64)
OPN K £ G N 7 =3 8/ 9 30.16 65% ( 0.65)
OPN H & HZE Tl = 6/ 2 30. 20 65% ( 0.60)
OPN A AFL &0 =2 5/ 9 30. 23 65% ( 0.62)
OPN JHH 2 A =g 6/ 4 30. 24 65% ( 0.71)
OPN faH AE#: =R =2 6/ 6 30. 24 6% ( 0.76)
OPN “ZZ5iE Y il FRAS =2 7/ 1 30. 26 6% ( 0.71)
OPN [N A #d i =2 6/ 3 30. 68 5%k ( 0.65)
OPN &ifG HAiE HHIHF =) 7/ 8 30.73 58k (0.73)
OPN fEEy AfE#f iz =2 5/ 0 30. 88 5% ( 0.75)
OPN Z[LIWAi% FE 1L 2 [ = 5/ 2 31.13 5#% ( 0.75)
OPN /N K K HHrE =2 6/ 0 31. 21 5#% ( 0.63)
OPN HfiH: M A 2 6/ 9 31.29 5%k (0.72)
OPN ik B& A =1 7/ 9 31.67 4%%  ( 0.71)
OPN #fffid] Z=0F FE 1L 2 5 = 5/ 5 31.70 4%%  ( 0.76)
OPN BAAR Flip FE 1L 2z 5 = 6/ 1 32.35 3tk (0.71)
OPN T HX FRAS = 6/ 8 32.36 3k (0.72)
OPN A JRAEAE -7 H PG = 5/ 7 32.44 3 (0.77)
OPN gy HEL B =2 4/ 7 32.46 3k (0.72)
OPN ki ZA%E VAN i) = 5/ 4 32.73 3% ( 0.66)
OPN ftAl  HhAs Tl = 5/ 8 32.76 3% ( 0.66)
OPN Kpg wI%E AR =l 5/ 6 33.15 3% (0.67)
OPN #tfiy R A wNIE 52 4/ 5 33. 42 28%  ( 0.67)
OPN JI[H £ H R R — 52 5/ 1 33.42 2%%  ( 0.81)
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OPN {/efik 5 s = 3/ 5 33. 51 2%% ( 0.70)
OPN iTfE T4 LAY g =8| 4/ 3 33. 61 28%  ( 0.72)
OPN B (&) FE L 25 = 4/ 2 33.94 28% ( 0.87)
OPN {n[y& HAx HHHAA = 4/ 4 34. 01 2#%  ( 0.72)
OPN ZeJRl 2Rt B =) 4/ 1 34.07 L% ( 0.70)
OPN % 1A TFf = 4/ 6 34.07 1% ( 0.61)
OPN ARy £ FE 1L 2 = 52 4/ 9 34. 61 % (0.77)
OPN i3 Z#% i = 3/ 8 34. 65 % (0.77)
OPN g FiFE H o = 3/ 7 35.08 ( 0.83)
OPN HH &z B =) 4/ 8 35.09 ( 0.68)
OPN HiEEx 1 24 YRR B I 52 3/ 0 36.43 ( 0.71)
OPN JEHF s H P 52 3/ 1 36.59 ( 0.70)
OPN JbA &b I =3 3/ 2 36.70 ( 0.68)
OPN #hgy  EpE V2N ) Al 2/ 3 37.12 ( 0.82)
OPN ik o 75 352 o [z = 2/ 5 37.50 ( 0.79)
OPN 4 HZ B =2 1/ 1 37.60 ( 0.87)
OPN JIlE =& ok =2 2/ 4 37.68 ( 0.97)
OPN &7 JHAD FE 1L 2z 5 = 2/ 2 37.89 ( 0.74)
OPN {EHE WAL L YN =1 2/ 8 38.10 ( 1.01)
OPN Paflz = rETIe=E | =2 2/ 9 38. 46 ( 0.82)
OPN JnfE SE8 K HHrE =l 2/ 1 39.04 ( 0.80)
OPN KA £ FE 1L 2 5 [ = 1/ 6 39. 40 ( 0.82)
OPN il BGse & H = 2/ 6 39.58 ( 0.70)
OPN /NBE g H P =1 1/ 4 40. 36 ( 0.80)
OPN /KE} Fijdh = H = 1/ 5 41.25 ( 0.72)
OPN HEAREE N =l 1/ 2 41.59 ( 0.90)
OPN B H 5% ok =2 2/ 0 41. 68 ( 0.84)
OPN {EjE  MEE HE7g =2 2/ T 42.24 ( 0.72)
OPN HA  fEFn L YN =3 1/ 0 43.02 ( 0.86)
OPN HA  HR& VPN = 1/ 8 44. 93 ( 0.94)
OPN f)Il  #byR T =2 1/ 3 46.12 ( 0.83)
OPN g  —3 K HHrd =l 1/ 9 48. 56 ( 0.94)
OPN #H LA H 7 =l 3/ 3 k&4 4 (———— )
OPN Fgde #&5 T-fd = 1/ 7 =g ( )
OPN T H#bETF i =2 3/ 4 T ( )
OPN HAf  #h A MHEAS = 3/ 6 EiE ( )
OPN At S GEg RN = 3/ 9 EHE ( )
OPN ‘& i FHH =2 4/ 0 i ( )
OPN P& ALY =) 5/ 3 i ( )
OPN BH< 65 B =2 6/ 5 ZEIE ( )
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